51 |wwnkunin; 50Uq nhnuhwin 4.33 50 216.5
52|bnipnubkiuhn 40dq nhnwhwn 4.8 50 240
289.4
53| dnipnubilhy (nudnyp Ghpupdwih 10Udg/dp wnith 2 578.8
54|uhUduuwinhii 10Ug nhquwhwnkp 43.33 100 4333
55 |uhUjuununhb 20Ug nhnuhwwnbp 54 100 5400
56 |uwy hpnlnjuljunt 25Uq nhgwhwn 38 100 3800
57|odkwypwgny  20dq nhnuuywinhgbp 15.66 50 783
58|gpnunwykpht 40Uq nlnwhun 9.5 50 475
gpnunuykpht (nwsnype tkpupluwh 20Ug 3111
59|24; wuintth 4 1244.4
Utnppht phnpnitdwl ogpunfEpuifuiqhps 246.92
wnbp  bwnphnwh pinphy, juthnuh '
pinphn, bwnpnudh ghwpuin, gyniljng wnnuh
nhnuithnoh/ thuphp// 10004} oph hwdwp
60{4000ug+590ug+ 700Ug+300uUq 20 4938.4
61|jnykpwihy 2uUg ' nhquhuwunkp 9 20 180
62|q1hljughy 30Uq phnwhwinkp 30 400 12000
63 [inkwnpughlyhih whlwpunip 10Ug/q wnith 600 10 6000
nnuh 573.48
64 |pkpuwdbunugnt /wbhwluphjibpidgil 10 5734.8
uwpnuinwidng gnnuighp ouswndwh 1670.88
65(100uLa/gnuisuh wnnh 6 10025.3
66|y innypndkl 100Ug phquhwtn 10 60 600
Lwwnphnidh piaphy, Tuijhnudhpiophyy, 320
YQughnuth pinphy /thiighph (nidnyp
Inwdnyp Juphjwbbkpupydub
6718,6uq/u;+0,3ug/up+ 0,49Ua/dy wnith 5 1600
twwinphnuth pinphy udnype tkpupiuwh 3183
68|9uq/l] WOl 10 3183
69|ukpupluwl onip jnidnype Lkpupuwb wuintth 212.8 10 2128
70[Phnulbpuqnb Gppupunip 1da/q nntih 1140 2 2280
Yhwnwdht 3 Juphiikp pgniniwb 1548.75
7115Uq/u}/1500UGAly upjuly 30 46462.5
72|jughnuth gpnilntiwn 500Uq nhnuhunn 7 50 350
73[Ukbw 300uUq pbnuwhuwitn 9.5 100 950
ghypndinpuwght wljiuw-/ 394.71
74| wljwbowlwphiikpo.3% L 5 1973.5
75|Ybknnypndkh 150uUqg ntinuhwn 108 100 10800
76|4bnnypndkl npniinnn 25uq/q wnnith 139.7 10 1397
77 |ywywnnyphy n/h 25Uq  N40 wnith 206.4 5 1032
78| wuywykpht nhknwhuitn 26.46 50 1323
pEunuqnihwdwpdbp/ nhpwqny 1% 1) 381.4
79|N10 oz 15 5721
80[Lhunwpn)n) 2,5Uq nlinuwhuin 24 100 2400
81| Phunypn)nj 5uq nhnwhwin 42 100 4200
82|4nyhyngnky 75Uq nhnwhuitn 153.66 300 46098




